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100
110
120
130
140
150
160
170
180
190
200
210
500
510
520
530
540
550
560
570
580
590
600
610

620
630

1000
1020
1030
1040
1050
1060
1070
1080
1090
1900

BlE BEAERSosr7L0 %1

REM RN MAIN I
CLEAR 1000:WIDTH 80, 25:CONSOLE 0, 25,0, 1

DEFINT A-Z:DIM WE$ (6),CL$ (12),KY8 (40>, KK$ (23), TN$ (26)
DIM AK(12, 36>, AC(3, 23>,2Z5(36,23),Z7Z(3,13>,ZT(3, 23),GE%(15)

FOR I=1 TO 6 :READ WE$ (I> :NEXT I

FOR I=1 TO 12:READ CL$ (I) :NEXT 1
FOR I=1 TO 40:READ KY8 (I)> :NEXT I:KYs$(0)=" ~
FOR I=1 TO 23:READ KK$ (I) :NEXT I
FOR I=1 TO 26:READ TN$ (I) :NEXT I:TN$(O>=" "~
FOR I=1 TO 3:10=0:FOR J=1 TO 23:READ AC(I,J)
IF AC(I,J)<>0 THEN I0=I0+1:NEXT J ELSE NEXT J
AC(T, 0)=I0:NEXT I

REM ¢640¢ Data ¥2! 60666
DIM AM(12, 36>

PRINT CHR$ (12) :COLOR4:LINE (0, 0)-(59, 15>, "#", BF: COLOR?7

LINE(4,4>-(55,11>," ",BF

LOCATE18, 5:PRINT"¥"%¥9Y ¥7&4 7°ul” 354~
LOCATE18, 8:PRINT” ( K.K T.T N.F D>~
LOCATE18, 10:PRINT” *84.2.13 Ver 1.1 "

FOR I=1 TO 36:FOR J=1 TO 12:READ AMJ, I) :NEXT J:NEXT I

GOSUB 8010:LOCATE61, 6:PRINT"¥"#¥7Y / Tape "

LOCATE62, 8: PRINT”7Y=2x% (1)...n4" :LOCATE6E8, 10:PRINT” (0)... 44x ;

A3=INKEY$:IF (A$<>"0")%*(A$<>"1") THEN 600
IF A$="0" THEN GOSUB 9050:GOTO 620
GOSUB 4500:GOSUB 9020:GOSUB 9050:GOTO 630

FOR I=1 TO 36:FOR J=1 TO 12:AK(J, ID=AM{J, I :NEXT J:NEXT I
AD=1:FOR GC=1 TO 12:FOR NO=1 TO 36:GOSUB 9110:NEXT NO:NEXT GC

REM 6000 MENU 40000

PRINT CHR$ (12) :GOSUB 9040:LOCATE65, 1:PRINT" M EN U "
LOCATE64, 4:PRINT"¥al¥—t+" ¥54" :LOCATE62, 6:PRINT” (1)... SET"

LOCATE62, 8:PRINT” (2)...¥ 29 tady” " :LOCATE62, 10:PRINT" (3)...7" Y~k 7HI”
LOCATE62, 12:PRINT” (43 ... Tape Save”:LOCATE62, 156:PRINT" (0)...END”

A$=INKEY$:IF A$<"0” OR A$>"4" THEN 1060

IF A$="0" THEN 1800 -

MO=VAL (A8) :ON MO GOSUB 2000, 6000, 7000, 4000
GOTO 1020

REM ¢¢00¢ end 40000

1910 PRINT CHRS$ (12) :LOCATE23, 8:PRINT" 2" Ju¥y $v7" 5~

1920

LOCATEZ28, 12:PRINT" 24 #74¥2¥ad 1!

1930 END

2000 REM IR ~va9 L
2010 PRINT CHR#(12);

2020 PRINT"« T

2030 PRINT"| 8 | A B
2040 PRINT™ | t T T T 1
2050 PRINT™ |avy- | 6

1 | 2 ! 3 | 4

2060 PRINT” = ¥ 5 } ¥
2070 FOR I=1 TO 12:PRINT USING" 1& &I";CL$(I);
2080 PRINT” | ! |

2090 IF (I<>4)*(I<>8) THEN 2110

2100 PRINT" | U } t t
2110 NEXT I

2120 PRINT"! 4 : L :
2130 GOSUB 8040:LOCATE6S, 1:PRINT” ~ ¥ 2 %~
2140 REM 400446 29L" V51 60606

2150

2170 LOCATE64, 10:PRINT” (3)...Wed” :LOCATE64, 12:PRINT” (4)... Thu”
2180 LOCATEG4, 14:PRINT" (5)...Fri”:LOCATE64, 16:PRINT” (6)... Sat”
2180 LOCATE64, 19:PRINT” (0)...END";

GOSUB 9020:GOSUB 9030:LOCATE63, 4:PRINT™ ( avt"s ¥54 )"
2160 LOCATE64, 6:PRINT” (1)...Mon" :LOCATE64, 8:PRINT™ (2)... Tue”
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2200
2210
2220
2230
2240
2250
2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490
2500
2510
2520
2530
2540
2550
2551
2552
2553
2554
2556
2558
2560
2570
2580
2590
2600
2610
2620
2630
2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
2750
2760

AS=INPUT8$ (1) : IF A$<"0” OR As$>"6" THEN 2200

WE=VAL (A8) : IF WE=0 THEN RETURN

LOCATE32, 1 : PRINT” (" ; WES$ (WE) ;") " : W1=WEX6-5

FOR GC=1 TO 12:Y0=GC+4~(GC>4)~(GC>8) :FOR I=0 TO 5:NO=I+W1:X0=I%*9+6

KY=AK (GC, NO) : KO=KY¥50: KY=KY-K0*%50

CO=7+(K0=1) +5% (K0=2) +2% (K0>3) -3% (KY=38) % (K0=1)
COLOR CO:LOCATEXO, YO:PRINT USING™& &" ;KY$ (KYD
NEXT I

NEXT GC:COLOR7
REM 40006 Yal 90000

GOSUB 9020:GOSUB 9030 :
LOCATE65, 6:PRINT" (8 " :LOCATE65, 7:PRINT" =~ |I©
LOCATE65, 8:PRINT™ (4)——(6)":LOCATEG5, S:PRINT” I

LOCATE65, 10: PRINT"  (2)  ":LOCATE6S, 12: PRINT” (RET) =v54"
LOCATE65, 14:PRINT" ( 0 )=END "
LOCATE6ES, 4: PRINT"~va® #vas vF4"
LOCATES1, 16:PRINT" b* 243 Avad vezh ?":X=6:Y=5:GOSUB 2620
IF Z=0 THEN GOSUB 9030:GOTO 2140
G1=GC:N1=NO
LOCATEG61, 18: PRINT" k™ 295" ~vay vex# 2" :GOSUB 2620:IF Z=0 THEN 2390
G2=GC:N2=NO: IF G1>G2 OR N1>N2 THEN 2350
LOCATE61, 4: PRINT" *a9d UF4
LOCATE71, 14: PRINT" »»" %" : LINE(GO,IS)—(?Q,IB).” ", BF
COLORS : LOCATE60, 20: PRINT"41) -3z +” : LOCATESO, 21 : PRINT" 42) - 234"
LOCATE60, 22:PRINT"43) - by¥+” : LOCATE60, 23: PRINT"44) -~ ¥a%” : COLOR7
SW=0:X=0: Y=20
COLOR5:FOR I=0 TO 3:FOR J=1 TO 5:10=IX5+J+SW
LOCATEI*15, J+19:PRINT USING"##) -& & ;10;KY8 (10D
NEXT J:NEXT I:COLOR7
GOSUB 2740:IF Z=0 THEN SW=-20% (SW=0) :GOTO 2460
FOR GC=G1 TO G2:YO=GC+4-(GC>4) - (GC>8) :FOR NO=N1 TO N2
AD=-1:GOSUB 8100
IF KN<21 THEN KZ=KN+SW:AK (GC, NO) =KZ+50:C0O=6+3% (KZ=38) :GOTO 2570
IF KN=21 THEN KZ=KY:AK (GC, NO)=KY—-100% (KY<31) : CO=T+5% (KY<31) : GOTO 2570
IF KN=22 THEN KZ=0:AK (GC, NO)>=0:C0=7:GOTO 2580
IF KN=23 THEN KZ=AM(GC, NO) : AK (GC, NO)=KZ:CO=7:GOTO 2570
IF KY>30 THEN KZ=KY:AK(GC, NO)=KY:CO=7:GOTO 2570
IF KY<23 THEN A0=0:GOTO 2560
LINE (60, 20)~(79,24)," ",BF:LOCATE62, 20:PRINT" " vat J &véd n 27
LOCATEG2, 22: PRINT" (1) . . #”¥#4” :LOCATE62, 23: PRINT" (2)... " #4"
LOCATE62, 24 : PRINT" (0) . .. Yadkd";
AS=INPUT® (1> : IF (A8<"0")+(A$>"2") THEN 2558 ELSE AO=VAL (A$)
KZ=KY: AK (GC, NOY =KY+200+100%A0 : CO=5
AD=1:GOSUB 9100
X0= ( (NO-1) MOD6) %*9+6
COLOR CO:LOCATEXO, YO:PRINT USING"& &" ;KY$ (KZ) : COLOR?
NEXT NO:NEXT GC
GOSUB 9030:GOTO 2340
REM 00000 »—7nil Y 66666
LOCATEX, Y:A$=INPUT$ (1) : IF A$="0" THEN Z=0:RETURN
IF A$=CHR$ (13) THEN 2710
IF A$="8" THEN Y=Y-1:IF Y<5 THEN Y=5§
IF A$="2" THEN Y=Y+1:IF Y>18 THEN Y=18
IF A$="4" THEN X=X-9:IF X<6 THEN X=6
IF A$="6" THEN X=X+9:IF X>51 THEN X=51
IF YMOD5=4 THEN IF A8="8" THEN Y=Y-1 ELSE Y=Y+1
GOTO 2630
GC=Y-4+ (Y>9) + (Y>14) : NO= (X+3) ¥9+WEX6—6: Z=1
GET® (X, Y) - (X+7, Y) , GE%: PUT® (X, Y) - (X+7, Y) , GE%, 4
RETURN
REM 00006 2-Unii Y 2 60000
LOCATEX, Y:A$=INPUT$ (1) : IF A$="0" THEN Z=0:RETURN
IF A$=CHR$ (13) THEN 2820
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2770
2780
2790
2800
2810
2820
2830
4000
4010
4020
4030
4040
4050
4060
4070
4080
4090
4100
4110
4120
4500
4510
4520
4530
4540
4550
4560
4570
4580
4590
4600
4610
4800
4910
4920
4930
6000
6010
6020
6030
6040
6050
6060
6070
6080
6090
6100
6110
6120
6130
6140
61650
6160
6170
6180
6190
6200
6210
6220
6230
6240
6245
6250

IF As="8" THEN Y=Y-1 :IF Y<20 THEN Y=20
IF A¢="2" THEN Y=Y+1 :IF ¥Y>24 THEN Y=24
IF A$="4" THEN X=X-15:IF X<0 THEN X=0
IF A$="6" THEN X=X+15:1IF X>60 THEN X=60
GOTO 2750
KN=(X¥15)%5+Y-19: IF KN>24 THEN 2750
Z=1:RETURN
REM HNE 3" %7y Tape Save HNNEGNR
GOSUB 9010:GOSUB 9040:LOCATE&64, 1:PRINT” TAPE SAVE ”
LOCATEG2, 4 :PRINT” (" #9279 Tape) " : MOTORO
LOCATEB2, 7:PRINT" 5" —#1v2-9"— =" :LOCATE63, 9:PRINT"Tape 7 Set ¥7"
LOCATE64, 11:COLOR2: PRINT"us4¥"” ; :COLOR7:PRINT” ¥"ad%y4= ¥
LOCATEG6S5, 13: PRINT"RETURN #—7" :LOCATEG66, 15: PRINT " #¥524"¥4 1~
A8=INKEY$:IF A$<>CHR$ (13> THEN 4060
D&="jikan” : PRINT #-1,D8
Dg="%%%k" :FOR I=1 TO 12:FOR J=1 TO 36
D8=Dgs+RIGHTS$ (" "+STRS (AK(I,J)), 3
NEXT J:IF IMOD2=0 THEN PRINT #-1,D8$:D8$="%%x%"
NEXT 1
RETURN
REM BN > #»9Y Tape Load NI
GOSUB 9010:GOSUB 9040:LOCATEG64, 1:PRINT" TAPE LOAD ~
LOCATEB2, 4: PRINT” (" 4#v9Y Tape) " : MOTORO
LOCATES2, 7: PRINT" 5" —#1a~4"— =" :LOCATE63, 9:PRINT"Tape 7 Set ¥7”
LOCATEG4, 11:COLOR2:PRINT*¥4&4"; : COLOR7:PRINT” " ad¥4= ¥*
LOCATESGS5, 13: PRINT"RETURN %—7" :LOCATE66, 15:PRINT"#¥5725" %4 1~
A8=INKEY$:IF A$<>CHR$ (13> THEN 4560
INPUT #-1,D8$:IF D8<>"jikan" THEN GOSUB 4900:GOTO 4510
FOR I=0 TO 5:INPUT #-1,D3%
FOR J=0 TO 1:FOR K=1 TO 36
AK (I*2+J+1, K)=VAL (MID8 (D%, J*x108+K*3+1, 3))
NEXT K:NEXT J:NEXT I:RETURN
REM €0900¢ Tape Read Error 0600¢¢ T
COLOR2:L.OCATEG62, 18:PRINT" Tape #~ FA" 42X |~
LOCATE62, 20: PRINT" Tape 7 #XI53/%"¥4":FOR I=1 TO 3000:NEXT I
RETURN
REM B jisuu hyoji IR
PRINT CHRS$ (12) : LOCATEO, 1:COLOR7 .
PRINT” ¥ L] L ¥ 1 T T ¥ L} L] L L] '“
PRINT" | 1 | | | ! ! | | | | | I"
PRINT” | t } == - } t t t t t t - B
FOR I=1 TO 12: PRINT USING"& &|";CL8 (DD ;
PRINT” | | | | l | | { | 1 [
IF (I<>4)*(I<>8)*(I<>l2) THEN 6120
PRINT” i { t l t
PRINT" I¥ 41 I | I I | | | | | | »
IF I=12 THEN 6130
PRINT” k ¥ ¥ t +
NEXT 1
PRINTH [ I} 1 1 L L 'l 1 L 1 L 1 JI!;
GOSUB 9040:LOCATE64, 1:PRINT™ ¥ 2% kady" 7
LOCATESGS, 5: PRINT” ¢ 0 )=»v"%" :LOCATE65, 7: PRINT” (RET) =END"
SwW=0
FOR K=14SW TO 11+SW:I0=(K+11%(SW=11))%5
LOCATEIO, 2: PRINT LEFT$ (KK$ (K), 4>
FOR GR=1 TO 3:ZT=0
FOR CL=1 TO 4:J0=7*GR+CL-4:GC=GR*4+CL-4:LOCATEIO0,JO
IF AC(GR,K>=0 THEN PRINT" *:GOTO 6240
ZS=7ZS (GC%x3, K) : ZT=ZT+ZS
PRINT USING™##. #";ZS/2
NEXT CL:LOCATEIO0,JO+2
IF AC(GR, K)=0 THEN PRINT" *:GOTO 6260
PRINT USING™##. 4" ;ZT/2
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6260 NEXT GR
6270 NEXT K
6280 AS=INKEYS$:IF A$=CHR$ (13) THEN RETURN

6280 IF As$="0" THEN SW=-11%(SW=0):GOTO 6170

6300 GOTO 6280

7000 REM M Lprint jikanwari R

7010 LPRINT CHR$ (&H1B);"T";™16";

7020 FOR WE=1 TO 6:W1=WEX6~5:LPRINT:LPRINT:LPRINT
7030 LPRINT" r T
7040 LPRINT"| 8

A 8 (";WE$ (WE)>;")";SPACE$ (23);"1I"
i

|
7050 LPRINT" | } T Y T T T 1
. 7060 LPRINT" [a9¥” | 1 | 2 | 3 | 4 | 5 | 6 !”
7070 LPRINT” k= } + } == : t 4 "
7080 FOR GC=1 TO 12:LPRINT USING"I& &1";CLS$ (GO ;
7080 FOR NO=W1 TO W1+5:AK=AK (GC, NO>MOD50
7100 LPRINT USING"& &1” ;KY$ (AK) ;
7110 NEXT NO:LPRINT
7120 IF (GC<>4)*(GC<>8) THEN 7140
7130 LPRINT" } } } } } t {”
7140 NEXT GC
7150 LPRINT" i —- : . : . 1"
7160 FOR I=1 TO 4
7170 . LPRINT" | | i
7180 NEXT 1
7190 LPRINT” t—+ o

7200 NEXT WE:FOR I=1 TO 5:LPRINT:NEXT I

7210 LPRINT CHR$ (&H1B) ;"A";

7220 RETURN

9000 REM WM sub routine NN

9010 LINE(60,0)-(79,24>," " ,BF:RETURN

9020 LINE(60,3>-(79,24>," ",BF:RETURN

9030 LINE (0, 2C>-(79,24)," ",BF:RETURN

9040 COLORG6:LINE(61,0)-(78, 2>, I, BF:COLOR7:RETURN

9050 COLOR2:LOCATEB2, 12:PRINT"Yn" 55 #<eF24#" ¥4” : COLOR7:RETURN
9100 REM 60060 1=V 714 06066

9110 KY=AK (GC, NO) : KO=KY¥100:KY=KY-50% (KY¥50) : IF KY=0 THEN RETURN
8120 IF KY>31 THEN RETURN

9130 I0=GCx3:K1=-KY* (KY<23)~23%(KY=31):IF Ki1=0 THEN 9150
9140 I10=10-K0:ZS(10,K1>=ZS(IO0, K1)+AD%*2:GOTO 9260

9150 IF K0<3 THEN 10=I0-KO0:I11=I0 ELSE IF K0=3 THEN I1=10:10=10-2 ELSE I1=I0-2
89160 ON KY-22 GOTO 9170, 9180,9190, 9200, 9210, 9220, 9230, 9240
9170 K1=15:K2=17:GOTO 9250

9180 Ki1=16:K2=17:GOTO 9250

9190 K1=19:K2=21:GOTO 9250

9200 K1=20:K2=21:GOTO 9250

9210 K1=15:K2=21:GOTO 9250

9220 Ki1=16:K2=21:GOTO 9250

9230 K1=17:K2=18:GOTO 9250

9240 K1=17:K2=20

9250 ZS(I0,K1)=ZS(I0,K1)+AD:2S5(I1,K2)=ZS(I1,K2)+AD

9260 RETURN

10000 REM I d.ta I

10010 DATA Mon, Tue,Wed, Thu,Fri, Sat

10020 DATA 1 A,1 B,1 C,1 D,2 A,2B,2C,2D,3A,3B,3C,3D

10030 DATA =z2s2 » Yaly , VA4 yIRRL 2 L RYBT S yARUET 2 2 Y h
10040 DATA ¥ # 2 , T4a" » XA2T 2, FVH 2 yEYAT 2 BTV ay BTV Tay 2
10050 DATA #4427 A ,9442 2 ,4442 B ,#442 3 &Y av %"V ay 2,954
10060 DATA #4574 2 »F494 1FAI4 2 L F A JETh 2,44 A 294 Hh 2
10070 DATA %" %4 P L 2 24 s FTOR2 y AT Ay » 757" » BAMIA
10080 DATA #" a9y %" ad¥"2 ,¥ok » RAMIYER Y, 99

10080 DATA 222", Yavw, Yehid, Yeh2, AP, ROH2, Y H , Y A2, 42", 1422, 4v42, w42
10100 DATA E"3",E"Y2, $44A, $442, F44B, #4433, %" 0" , 4 V2, AF4 , AFA2, €97
10110 DATA #F74 584 395 N5 JAdp= L phs avEv L ESTF b9
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10120
10130
10140
10150
10160
10170
10180
10180
10200
10210
10220

10230

10240
10250
10260
10270
10280
10290
10300
10310
10320
10330
10340
10350
10360
10370
10380
10390
10400
10410
10420
10430
10440
. 10450
10460
10470
10480
10490
10500
10510
10520
10530
10540

DATA
DATA
REM-
DATA
DATA
DATA

By L, eFH L A9EVS L,HPT ,TV7¥D L, 39 LRIHT L, MOEY A
¥LF X%, TEYET L, FdHT A4FY L ¥T9F P9

ay, == Yu, == AY, = Yh,—— X, = AV, ~= L7, Fd, —— P4, —— F,—— N, ——

3,22, 4, 0, 7, 0,10, 0, 0,21,13, O,14,24,15, 0,16, 0,17, 0,18,0,0
i, 6, 6, 0, 9, 0,11, 0,19, 0,13,23,14, 0,15, 0,16, 0,17, 0,18,0,0
2, 0, 5, 0, 8 0,12, 0,20, 0,13, 0,14, 0,15,25,16, 0,17, 0,18,0,26

REM *1A=1B=1C=1D*2A=2B=2C=2D*3A=3B=3C=3D

DATA
DATA
DATA
DATA
DATA

11, 5, 1,10,15, 5, 9, 7,1
1,11,10, 7, 3,15, 5, 9,
17,10,11, 1, 8, 8, 7, 5,
5 1, 7, 38, 5, 7, 3, 1,3
10,17, 3,11, 7, 9, 1, 3,
0, 0o, 0, 0, 0, 0, 0, O,
23,238, 1, 5,11, 5,13, 3,2
23,23, 5, 1, 1, 7,13,11,2
3, 7,23,23, 5, 1,11,13,
7, 3,23,23, 7,11, 3,13,

3, 1, 8, 7
7,13, 1, 5 :
5, 7,18, 3 :
1,31,31,31 :
1, 5, 9,13 :
o, 6, 0, O
5,25, 5, 1
5,25, 7, b :
7, 1,25,25 :
1, 5,25,25

38, 38, 33, 38, 33, 33, 33, 33, 33, 33, 33, 33 :

39, 39, 39, 39, 39, 39, 39, 39, 39,39,39,39 :
19, 5,21, 7,13, 1, 7, 5,24,24, 1,11 :
19, 3,21,10,13, 3, 1, 9,24,24,11, 7 :
3,19, 7,21, 9,13, 3, 1, 3,11,24,24
1,18, 3,21, 1,13, 8, 3,11, 7,24,24
5 1,10, 8, 3, 8, 5, 7, 9, 3, 7, 1 :
34,34,34,34,34,34,34,34,34,34,34,34 :
1,10, 5, 2,29,29, 1,12, 7, 1, 5, 3 :
7, 1, 2, 5,29,29,12, 1, 1, 9, 3, 5 :
3, 2,138, 1, 5,12,29,29, 3, 7, 9, 1 :
2, 7,138, 3,12, 5,28,29, 5, 3, 7, 9 :
5 3, 1,13, 1, 3, 5, 9,23,23, 1, 7 :
10, 5, 38,138, 38, 1, 8, 5, 9, 5,238,283
1, &, 7,10, 5, 9, 3, 1, 7, 5, 1, 8
14,11,10, 3, 3, 5,27,27, 3, 9, 5, 1
14,10,11, 7, 9, 38,27,27, 1, 7, 8, 5 :
10, 14,17,11,27,27, 1, 7, 5, 3, 7. 9
1,14, 3,17,27,27, 7, 3, 9, 1, 8, 7
40, 40, 40, 40, 40, 40, 40, 40, 40, 40, 40, 40
32, 32, 32, 32, 32, 32, 32, 32, 32, 32, 32,32 :
3 7, 1, 5, 1, 7,15, 5, 5, 9,25,25
7 3 5,1, 7, 1, 5,15,25,25, 5, 9
o, 0, 0, 0, 0, 0, O, O, O, O, O, O
o, o, 0, 0, 0, 0, O, O, O, O, O, O
9, 0o, 0,0 0, 0, 0, O, O, O, O, O, O
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B2k BEEBEERToSFLTRL

100 REM Il MAIN R

110 CLEAR 1000:WIDTH 80, 25:CONSOLE 0, 25,0, 1

120 DEFINT A-Z:DIM WES(6),CL$ (12),KY# (40), KK8 (23>, TNS (26)

130 DIM AK(12,36),AC(3,23),ZS(36,23>,ZZ2¢3,13>,ZT (3, 23),GE% (15>
140 FOR I=1 TO 6 :READ WES$ (I) :NEXT I

150 FOR I=1 TO 12:READ CL$ (I) :NEXT I

160 FOR I=1 TO 40:READ KY$(I> :NEXT I:KY$(W@=" "
170 FOR I=1 TO 23:READ KK$ (I) :NEXT I

180 FOR I=1 TO 26:READ TN$ (I)> :NEXT I:TN$ (O)=" "
190 FOR I=1 TO 3:10=0:FOR J=1 TO 23:READ AC(,I)

200 IF AC(I,J)<>0 THEN I0=I0+1:NEXT-J ELSE NEXT J

210 ACCI, 0= IO NEXT 1

500 REM 60466 Data V27 660606

510 DIM YS(36,23),YZ(3,13)

520 PRINT CHR$(12):COLOR4:LINE(0.0)—(59.15).".”.?F:COLOR7

530 LINE(4,4)-(55,11>,” ",BF ‘

540 LOCATE16, 5:PRINT”Y"xdkad $2%4 7°ur* 350"

550 LOCATE18, 8:PRINT” ( K.K T.T N.F )"

560 LOCATE1S8, 10:PRINT” *84,2,13 Ver 1.1 ~

570 GOSUB 4500:GOSUB 89010:GOSUB 89040:LOCATE64, 1: PRINT“ DATA Yay "
580 GOSUB 9050

580 AD=1:FOR GC=1 TO 12:FOR NO=1 TO 36: GOSUB 9100:NEXT NO:NEXT GC
600 GOSUB 9010:LOCATEG1, 6:PRINT*#4¥4¥" 2% s Tape A"

610 LOCATE62, 8:PRINT"?Y=x% (1)...n4" :LOCATEGS8, 10:PRINT” (0)...44x ”;
620 AS=INPUT$ (1) :IF (A8<>"0")%(A$<>"1") THEN 620

630 IF As$="1" THEN GOSUB 4700

640 GOSUB 9010:GOSUB 9040:LOCATEG64, 1:PRINT” DATA ¥a9 ”

650 LOCATE62, 4:PRINT"” ( Atk 4 ¥4y )"

660 GOSUB 9050

670 FOR I=1 TO 36:FOR J=1 TO 23:YS(I,J)=YS(I,J)+ZS(I,J):NEXT J:NEXT I
680 FOR I=1 TO 3:FOR J=1 TO 18:YZ(I,J>=YZCI,J)+ZZ(I,J) :NEXT J:NEXT I
1000 REM ¢¢¢0e MENU 0000

1010 PRINT CHR$ (12) :GOSUB 9040:LOCATE65, 1:PRINT" M EN U "

1020 LOCATE64, 4:PRINT"¥aYx—}F" 54"

1030 LOCATE62, 6:PRINT” (1)...LP Ya%¥"":LOCATEG2, 8:PRINT” (2)...LP A4¥4™
1040 LOCATE62, 10:PRINT" (3)...Tape save” :LOCATEG2, 14:PRINT” (0)...END";
1050 AS=INKEY$:IF A$<"0" OR A$>"3" THEN 1050

1060 IF As$="0" THEN 1800

1070 MO=VAL (A$) :ON MO GOSUB 5000, 5000, 4200

1080 GOTO 1010

1900 REM ¢0é40e end 00000

1910 PRINT CHRS (12) :LOCATEZ23, 8: PRINT": ruY $oFTyH”

1920 LOCATEZ28, 12:PRINT" 24 F74vevay 11"

1930 END

4200 REM I >~ 2% Tape Save N

4210 GOSUB 8010:GOSUB 8040:LOCATE64, 1:PRINT” TAPE SAVE *

4220 LOCATE62, 4:PRINT" C ¥* 2% Tape )" :MOTORO

4230 LOCATE62, 7:PRINT" 5" —#va—-4"— =" :LOCATE63, 9:PRINT"Tape ¥ Set %"
4240 LOCATE64, 11:COLOR2:PRINT"uo4¥” ; :COLOR7:PRINT" ¥"a%s4= &

4250 LOCATEG65, 13:PRINT"RETURN #%-2" : LOCATE66, 15:PRINT"#>529" %4 I~
4260 A$=INKEY$:IF A8<>CHR$ (13) THEN 4260

4270 D8="jisuu” :PRINT #-1,D$

- 4280 Dg="%%k%k" ;:FOR I=1 TO 36:FOR J=1 TO 23

4290 D$=D$+RIGHTS (" "+STR$ (YS(I,J)), D

4300 NEXT J:IF IMOD2=0 THEN PRINT #-1, D$:D8=">s0%k%"

4310 NEXT 1

4320 D$="x¥x%" ;:FOR I=1 TO 3:FOR J=1 TO 13

4330 D&=D$+RIGHTS ¢ "+STRS (YZ (I, )),4)

4340 NEXT J:NEXT I:PRINT #-1,Ds

4350 RETURN

4500 REM HEIN " 279 Tape Load NN

4510 GOSUB 8010:GOSUB 8040:LOCATE64, 1:PRINT” TAPE LOAD "~
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4520
4530
4540
4550
4560
4570
4580
4590
4600
4610
4700
4710
4720
4730
4740
4750
4760
4770
4780
4790
4800
4810
4820
4830
4840
4900
4910
4820
4930
5000
5010
5020
5030
5040
5050
5060
5070
5080
5090
5100
5110
5120
5130
5140
5150
5160
5170
5180
5190
5200
5210
5220
5230
5240
5250
5260
5270
5280
5290
5300
5310
5320
5330
5340
5350

LOCATEG62, 4:PRINT” (" %92y Tape) " : MOTORO
LOCATEG2, 7T:PRINT" 5" —#La-%" —
LLOCATES4, 11:COLOR2:PRINT" 944" ; :
LOCATE65, 13: PRINT"RETURN #-7":

AS=INKEY$:IF A8<>CHR$ (13) THEN 4560
INPUT #-—-1,D¢:1F D$<>"jikan”

FOR I=0 TO 5:INPUT #-1,D3$
FOR J=0 TO 1:FOR K=1

AK (I#2+J+1, K)=VAL (MID$ (D8, J*108+K*3+1, 3))

NEXT K:NEXT J:NEXT I:RETURN

REM B 2" 2 Tape Load NN

GOSUB 9010:GOSUB 8040:LOCATEGS, 1:PRINT”"DATA LOAD™

LOCATEG62, 4:PRINT” ( ¥ 2% Tape )" :MOTORO

LOCATEG2, 7:PRINT" 3" —4va—4" —

LOCATEG64, 11:COLOR2: PRINT" 944" ;

LOCATEGS, 13: PRINT"RETURN %-97
A$=INKEY$:IF A$<>CHR$(13) THEN 4760
INPUT #-1,D8:1IF D8$<>"jisuu”

FOR K=0 TO 17:INPUT #-1,D8
FOR I=0 TO 1:FOR J=1 TO 23

YS (K*2+4+1+1, J)=VAL (MID% (D8, I*92+J%4+1, 4))

NEXT J:NEXT I:NEXT K

INPUT #-1,D$:FOR I=0 TO 2:FOR J=1 TO 13

YZCI+1,J)=VAL (MID$ (D8, Ix52+J%4+1, 4)) : NEXT J:NEXT 1

TO 36

REM ¢000¢ Tape Read Error 06666
COLOR2:LOCATE62, 18: PRINT” Tape #"
LOCATEG2, 20: PRINT" Tape 7 HXF24" ¥4~

REM HENEE PRINTOUT of JISUU NN
IF MO=1 THEN LPRINT"

THEN GOSUB 4900:GOTO 4510

THEN GOSUB 4900:GOTO 4710

=" :LOCATEG3, 9:PRINT"Tape 7 Set ¥7"
COLOR7:PRINT"
LOCATEG66, 16: PRINT 252%™ ?4 L

DAY T 2

=" :LOCATE63, 9: PRINT"Tape 7 Set ¥7”
:COLOR7:PRINT"
:LOCATEG66, 15: PRINT" #5729 44 I~

DAl 22 R

FOR I=1 TO 3000:NEXT I

0000000 2V Y 0666064 :GOTO 5030
0000000 L1714 VTV G0000004"
LPRINT CHR$ (&H1B); H

LPRINT” m
LPRINT"lt4F*|7ﬁ

LPRINT" |7+~ OI i“yl“

1257" L &4}

i

T T B

1% 2 ¥k 1V 9 17

P ov | & 4lvgvl ov | L ¥ 417

3 i — ¥
T 1

LPRINT”F————F———%'
FOR I=1 TO 3:LPRINT USING"| # HE
FOR J=1 TO 13:IF J=12 THEN LPRINT"I”'
IF MO=1 THEN ZZ=ZZ(1,J) ELSE ZZ=YZ(I,J)
LPRINT USING"####!";
NEXT J:LPRINT

L

LPRINT" t!——d ™ ¢

FOR GR=1 TO 3:LPRINT:LPRINT:AT=AC(GR, 0)-1
FOR I=1 TO 3: FOR J=1 TO 23:ZT (I, J)=0:NEXT J

LPRINT” —m"; :FOR I=1 TO AT:LPRINT"—"

FOR I=1 TO 23:IF AC(GR, IY<>0 THEN LPRINT USING" 1&
NEXT I:LPRINT"I|"
t";:FOR I=1 TO AT:LPRINT"——+" ; :NEXT I:

FOR I=1 TO 23 IF AC(GR, I)<>0 THEN LPRINT USING" &
NEXT I:LPRINT"I"
LPRINT” l===%";:FOR I=1 TO AT:LPRINT"———=F";:NEXT I:
FOR I=1 TO 4:FOR J=1 TO 3:10=(GR*4+1-4)%3+J-3
IF J=2 THEN LPRINT USING” |& &”;CL8 (GR*4+1-4);
FOR K=1 TO 23:IF AC(GR,K)=0 THEN 5370
IF MO=1 THEN ZZ=ZS(I0,K) ELSE ZZ=YS(10,K)
LPRINT USING™ | ####" ; H

:LPRINT"—"

& ;KK$ (I);

LPRINT”————4“
&" ; TN$ (AC(GR, I>);
LPRINT == "

ELSE LPRINT" | "



5360
5370
5380
5380
5400
5410
5420
5430
5440
5450
5460
5470
5480
5490
9000
9010
9020
9040
9050
8100
9110
9120
9130
9140
9150
9160
8170
9180
9190
9200
8210
9220
9230
9240
9250
8260
8270
9280
9290
9300
9310
8320
9330
8340
9350
9360

9370 RETURN

10000
10010
10020
10030
10040
10050
10060
10070
10080
10090
10100
10110
10120
10130
10140
10150
10160
10170

ZTJ,K)=ZTJ,K)+2Z
NEXT K:LPRINT"|”

NEXT J
LPRINT” " ; :FOR K=1 TO AT:LPRINT"—+"; :NEXT K:LPRINT"—"
NEXT 1
FOR I=1 TO 3:IF I=1 THEN LPRINT" |2"%";:GOTO 5430
IF I=2 THEN LPRINT" | "; ELSE LPRINT" | #4
FOR J=1 TO 23

IF AC(GR,J)<>0 THEN LPRINT USING™ |####";

NEXT J:LPRINT" "
NEXT 1
LPRINT" Y/—"; :FOR I=1 TO AT:LPRINT”=———&"; :NEXT I:LPRINT"—!"
NEXT GR:FOR I=1 TO 4:LPRINT:NEXT 1
LPRINT CHR$ (&H1B) ; "A” ; : RETURN
REM B sub routine N
LINE(60,0)~(79,24)," *,BF:RETURN
LINE(60, 3>-(73,24),™ ",BF:RETURN
COLOR6:LINE(61,0)~(79, 2), "W, BF:COLOR7:RETURN
COLOR2:LOCATE61, 12:PRINT YN~ 52 F2F24 94 11":CO
REM 00046 =Y 54 60000
GR= (GC+3) ¥4 : KY=AK (GC, NO) : KO=KY¥100:KY=KY-50% (KY¥50) : IF KY=0 THEN RETURN
IF KY>31 THEN 98270
I10=GC*3:K1=-KY* (KY<23) -23% (KY=31)> : IF K1=0 THEN 9150
10=10-K0:ZS(10,K1)=ZS (10, K1) +AD¥2:GOTO 9260
IF KO0<3 THEN 10=I0-KO:I11=10 ELSE IF KO=3 THEN I1=I0:11=I0-2 ELSE 11=10-2
ON KY-22 GOTO 9170,9180, 9190, 9200, 3210, 9220, 9230, 8240
K1=15:K2=17:GOTO 9250
K1=16:K2=17:GOTO 9250
K1=19:K2=21:GOTO 9250
K1=20:K2=21:GOTO 9250
K1=15:K2=21:GOTO 8250
K1=16:K2=21:GOTO 9250
K1=17:K2=19:GOTO 9250
K1=17:K2=20 : T
ZS(I0,K1>=ZS(10,K1>+AD:ZS (10, K2)=ZS (10, K2) +AD
ZZ (GR, 1)=ZZ (GR, 1> +AD:GOTO 9310
ON KY-31 GOTO 9280, 9290, 8290, 9290, 9290, 8320, 9330, 9350, 9360
ZZ (GR, 2)=ZZ (GR, 2) +AD:GOTO 9310
ZZ (GR, KY-30>=ZZ (GR, KY-30) +AD
ZZ (GR, TY=ZZ (GR, 7) +AD
ZZ (GR, 8)=ZZ (GR, 8> +AD:GOTO 9340
ZZ (GR, 9 =ZZ (GR, 9) +AD:GOTO 9340
ZZ (GR, 10)=ZZ (GR, 10> +AD
ZZ (GR, 11>=ZZ (GR, 11) +AD:GOTO 9370
ZZ (GR, 12)=ZZ (GR, 12) +AD:GOTO 9370
ZZ(GR, 13>=ZZ (GR, 13> +AD -

REM HIDN data IR

DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
DATA
REM-
DATA
DATA
DATA

",
’

ZT(I,3) /25

LOR7: RETURN

Mon, Tue, Wed, Thu,Fri, Sat .
1A,1B,1C,1D,2A,2B,2¢€,2D,3A,3B,3¢C,3D

arat s Vae s VN4 s Ivh4 2 RYH Y JROA 2 2 Y A

Uy A2 , 42" s I 2, FYHTY LAVAY 2 BT Ytay BTVt ay 2
F447 A ,F442 2 ,9442 B ,H4427 3 L,F " Vav ¥V av 2,W574

hF4 2 s A JEFToh 2, P4-54 G494 2 ,94H , 4N 2
%" . H4 R I4 2 ,kvH2 , FOR2 A whY , 257" s B4 FA4
a9y & Yy 2 [ Fud s A MY E Y, DSy

272, VaYe, YAl Yrh2, XVhY, ROA2,Y B ,Y H2,

42", 2422, 3H7, dH2

EYN BT Y2, 944A, 9442, 9448, #443, %" V", & V2, AF L, AFA2, kVHY

1574 ,FH4 195 . n5 JA2y=  yhy

$r9 L Fh L ATRYS 423 ,IV¥9 L34

LT S S AR £ 1 S e IO e
Ay, == Y, = Y, ~— Pk, == X4, -~ FV,—— L, ~
3,22, 4, 0, 7, 0,10, 0, 0,21,13, 0,14,2
i, o, 6, 0, 9, 0,11, 0,19, O0,13,23, 14,
2, 0, 5, 0, 8 0,12, 0,20, 0,13, O, 14,

62

,B8YA et F L2

s RXIHT L, RO T

VYA,
- P4, - 4, —— K, -~ H,—
4,15, 0,16, 0,17, 0,18, 0,0
0,15, o,16, 0,17, 0,18, 0,0
0,15,25,16, 0,17, 0,18, 0,26





